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https://www.100test.com/kao_ti2020/295/2021 2022 E7 90 86 E
8 A7 _A3Show c101 295996.htm You are a network administrator
at Pcjob. You are troubleshooting a router problem. You issue the
show ip route command on one of the routers. The output from the
command is shown in the following exhibit: What does [120/3]
represent?A. 120 is the bandwidth allocation and 3 is the routing
process number. B. 120 is the administrative distance and 3 is the
metric for that route. C. 120 is the value of the Oupdate timer and 3 is
the number of Qupdates received. D. 120 is the UDP port for
forwarding traffic and 3 is the number of bridges. (I 1 PcjobJ I [
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Administrative Distance ? Connected 0 ? IGRP 100 ? RIP 120 [J [J
0O 0O CCNA Self-Study CCNA ICND exam certification Guide
(Cisco press, ISBN 1-58720-083-X) Page 177 100Test 1 LI [0 [ [J
Jododododououotuond www.100test.com



